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X = P- cos Wt cos 2-3
y = P- cos wtsin « 3-3

X = P- cos Wt cos o 4-3

y = P. cos(wt — 1T) sin &= —P- cos wt sin « 5-3
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X = P. cos Wt cos « 6-3

y = P- cos wtsin « 7-3
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X = P- cos Wt cos 8-3

y = P cos (wt — g) sin &= —P- sin Wt sin « 9-3

Sl s oy slalinly » Gaate OT (sla ) ges 457 il oo i ¢S5 (6 el SVslas G g (galasl

"’}14'“‘}’.'t5ﬁji"u:?h;t5‘i‘-’6f§x"\':“b.“’-')’a=45 asil> o

AL S s 4 S 4 3909 s Sl-goe plod 4

X = P. cos wt cos « 10-3

y = P. cos wtsin « 11-3
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X = P- cos Wt cos & 12-3

y = P. cos(wt — 21T) sin «= P- cos wt sin « 13-3
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